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Paper : GECMTH2B - ‘
- ( Business Mathematics ) -
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Answer the following questions :
(@ Mt
: le 10|__ o
2 4

=, x I TF Sferedn 1

If
5x 10

=0
2 4|

. find x.
(b) 3 T T <l mcﬁawamqﬁm 1

Give an example of’ scalar matnx of
order 3.

() = TeTCh! AR Bfere ¢ 1
Choose the correct answer :
A =(almxn <51 3 T T, Mz
=[almxn is a square matrix, if
() m<n |
(i) m>n
(ii) m=n
(iv) @A GBS T
None of the above
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'i (h) T (1f)
(d) WWﬁ‘f{m@rm&(mﬁm| 2! 76 -3, [8 0 -5
Write, two differences between matrix A= -4 2 87 |le -1 2
and determinant. )
(e) =R Rides 3 e I fafs 91 (find) 5A-3B =? 3
SRR S T .
¥3? , 2 T/ Or
ghat are the minor and cofactor of the x F R T e, Tt
bement 3 in the determinant given Find x and y, if
clow?
‘ | 47, -1 _[18
1 0o -5 2| 2|7
3 ~1 2
4 6 _3 ) A Tfrsa (Find A™Y), AR (when)
00 RS e 2 0 -1
S T e st T | - A=l5 1 o
Define tr 1+ 01 3
matrix, ,.v‘anysposed Mmatrix and adjoint S
@ W w331/ Or
Prove that— W (1) f0)=x2 +Tx+12, f(A4) TTF Rl
0 3 517 . 1 (find f(A)), AR (when)
B0l 1 2 1
=S 2 ¢ A=[0 1 -1
3 3 -1 1
SN/ or
=2 oW ow 1 -1 _ [x 1
a;j 7z | vﬁ(lﬂA=2-1’B‘y_ hli
. ; 2 2
Constructa2><3matrixwhere’ag~\zi\. : (and) (A+B)2 =A“+B%, x 9% @A TN
' \j\z{ : fadg 91 (find the values of x and y).
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100 per week. The demand set for these
itemsis D = {(g, p)|q+5p = 850}, where P
is measured jn suitable units. The cost of
Producing ¢ ltems per
Cld =300 -10g + 42,

How many items

should be produced
each week in order

to maximise profit?

week 18

——

(d)

(13)

@Al TR QA GF ST TS 2 LW
s ° OIF SRA TS FH 920-25
¥ 900 5F1 @ [ WF YR [ Ay
|

Compound interest and simple interest
on a certain sum of money for 2 ye:au's are
respectively ¥ 920-25 and ¥ 900. Find the
sum and the rate of interest.

3. (o) o T TR 1004 s o 2,100 59X () oW R P W1 2 T fouy 5x2=10
W 2,835 B EE i Answer any two of the following :
1 ' '
?n2What time ¥2,100 amount to (i) = TR 9Ol (TS AORF ITH S
835 at 10% p.a. 517
TR 5% T Jo© 1,200 B o
(b) ﬁﬂm 1500% - A1 15 I} “1L© (967 &1 4 W
: 3125%3 IR 4y Wm;@:,,zg% %37 [ff =R (1-05)'° =2.-0789]
TR R0 A man deposits ¥ 1,200 in a bank at
At what rate of the end of each year @ 5% p.a. CI.
S
produce the Same 1nltel:e:t vl 1,500 What would be his deposit after
¥3,125 Produce in YearSI:t i‘g e:r : ?as 15 years? [Given (1-05)'® =2.0789]
(]
() =R 5% W‘f’lﬁlﬁsow, (i) TR 4% T IT© @A TR RO
S SHIF TS i ,250331, MG T 5% P 25 5 X o e
9"@135’%“’5&& T A ! m&-ﬁgﬁmﬁi’q?
The difference in sun 1e E d interest for 2nd
t { Compound interest for 2nd year on
¥ 1,450 at 5% p.a. and on? » el;;satt on | a certain sum at 4% p.a. is ¥25.
same rate for the same timq is ¢ the ‘ Find CI for 3rd year.
Find the time. 13s. 1
: 24P/1191 (Turn Over )
|
24P/1191



(4200 wing)

10} sunoy inoqef g saxmbal y [9pout JO
9031d yoeq “3onpoud e jo g pue Y S[PPOW
oMy saxewr Auedwoo Suunjoejnuew v

|Mz§;@lﬂ$
1Qlikeckle Dol blflelele e, I6 Shib) & bl 1lle)
slle qipdle Lopld bhllsg o2k Qs Bkl
Selied] bhblaJie b Lkl dlln W lickle | 22
alle 1&4 000°CT oygklic ldeyis bl Lkl lin
19 0008 Qgklic 100G bY lickle EOllslionel)
b kR OF Sln 08T Kdp kile Blold
gk bolb blllb RI4E Sl QRl flek blgklic
hHQE 152 Sldlle lGhki € bb bhboeIdd
dlin 1GhkiR ZT bolb beURls ok biEhlle hbjQJR
b lekle | 52 Sflblin lohkiz T bolb bbbosidd
-slln loh KR 6 bolb boyels flek bighll
hhlQJe bV lekbe | b2b ORE g sl V ekl
1k bl hpJ Bllsllecdd) [plblolllssq floke 105
. 10 /ibia o
InIXTW
B yons Jo 3so0d 9} IstuuIw 03 IIIG[qO.Id
SurwrurerSoxd reouyy v se woaqord
ST} Irehuniog ‘I Pood aseqo.md 0}
83 1ad g 2 pue | pooy aseyoand o3 83 1od
0S 2 $3509 3] *0 urureja jo 831/syun g pue
V ururejia jo 8x/jun | surejuod I pood
"D ulureja jo 8x/jun [ pue v Uurelia
Jo 33 /sjun g surejuod | pooy "D UIWeA
Jo sjun Q1 pue y unweja jo sjyun 8
jse9q Je Uurejuod aImxiu ayj jo SUdIU0D

(st )

I611/dbe

R S ERik A a1 R T oag

COR T TRt

, ( pory,
! 19%9.0) 1611/dvC
}(,'u;:‘&‘z; PR Lem ' yons ur spooj

oMy xTur oy SOYSIM URIORAIP V

\ ”'&53@1&-

S 1Qllickle Qlolb blflchele
.MOL&Z%_' Bhh blab LEE] bbbl
floke b3l ngﬁii:u% 2la l&g 0
M bl aa, | gy 227 © ke O
QB I bl gy e AV Byon iy

O HHIY bl agy g T MR

Rt S

00z-figsx )

: (ouo Aue) jo ydesgy aq meiq

] P (lak Bl ) b ledbie ey ©)
‘uonouny 9And3fqo sugsq

I |ty lmbie bledok ghje  (g)
"UOnNIOS 3[qIses; rewndo suga(

N\
I |L&@la»kkhlhlkk}z&2&kﬁl,&k (o -y

¢10 "&'d %%i¢ Susq 3sa19yuy
jo oYEX W ‘SIeL p 1op ogoep 4
fymuue Ue Anq g wns Teym

& blgllle 12 ke ileqr 1ogppiss -
b 190 QM BY 0SO'T sk g
pb bbb + S0k b2 bbb % puy (m)

( ¥1 )




(16 )

for
fabricating anq 1 labour hour

ires
finishing, Each piece of model B requges
12 labour hours for fabricatl.ng anFor
labour  hoyrg for finishing. -
fabricating ang finishing, the maximu

30
labour hoyrg available are 180 and
T€spectively, The

On each piece of model Bi

OW many pieceg of model A and mode
B should pe Manufactured per week to
realise g Maximum profit? Formulate
this problem, s a linear programming
problem,

(€) TS it e s
F41:

SR el S
Z=3x+2gﬁ T Sfper, T
PR 2 |
X+y>8
3x+5yg15
X20,y>0

Solve graphically the folloWing linear
Programming Problem, .

Minimige » _ 3x +2y
subject to the Constraintg

X+y>g

3x+5yg15

xéngo
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